Inder Jeet Taneja; Leandro Pardo; Domingo Morales $\lambda\text{-measures}$ of hypoentropy and comparison of experiments: Blackwell and Lehmann approach

Kybernetika, Vol. 27 (1991), No. 5, 413--420

Persistent URL: http://dml.cz/dmlcz/125854

Terms of use:

© Institute of Information Theory and Automation AS CR, 1991

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

λ-MEASURES OF HYPOENTROPY AND COMPARISON OF EXPERIMENTS: BLACKWELL AND LEHMANN APPROACH

INDER J. TANEJA*, LEANDRO PARDO, DOMINGO MORALES

Ferreri [5] introduced and studied a λ -measure of hypoentropy. Taneja [10] extended it towards applications point of view. Recently, authors [9] studied its applications to compare the experiments using Bayesian approach. In this paper, our aim is to study more applications of this measure in comparison of experiments applying Blackwell's as well as Lehmann's approach.

1. INTRODUCTION

Let $(\Theta, \beta_{\Theta}, \tau)$ be the parametric probability space where we suppose that τ is dominated either by a countable measure or by the Lebesgue measure; i.e., $\tau \ll v$. Let $p(\theta) = (d\tau/dv)(\theta)$ denote its Random-Nykodym derivative. The statistical space $(\mathcal{X}, \beta_{\mathcal{X}}, P_{\theta})_{\theta\in\Theta}$ associated to the experiment $\mathscr{E}_{\mathcal{X}}$ is such that $P_{\theta} \ll \mu \ \forall \theta \in \Theta$, where μ could be either a countable measure or the Lebesgue measure. Let $f(x|\theta) =$ $= dP_{\theta}/d\mu(x)$ be its probability function or its density function. Finally, we denote by f(x) and $p(\theta|x)$, the predictive and posterior distributions respectively.

The expected λ -measure of information obtained before observing the experiment \mathscr{E}_x is given by

$$I_{\lambda}(X; p(\cdot)) = \mathsf{E}_{X}[H_{\lambda}(p(\cdot)) - H_{\lambda}(p(\cdot \mid x))] =$$

= $\frac{1}{\lambda} \left\{ \int_{\mathscr{X}} \int_{\Theta} (1 + \lambda p(\theta \mid x)) \log \left(\frac{1 + \lambda p(\theta \mid x)}{1 + \lambda p(\theta)} \right) f(x) \, \mathrm{d}\nu(\theta) \, \mathrm{d}\mu(x) \right\}, \quad \lambda > 0$ (1)

where

$$H_{\lambda}(p(\cdot)) = \left(1 + \frac{1}{\lambda}\right) \log\left(1 + \frac{1}{\lambda}\right) - \frac{1}{\lambda} \int_{\Theta} \left(1 + \lambda p(\theta)\right) \log\left(1 + \lambda p(\theta)\right) d\nu(\theta)$$

is the well known λ -hypoentropy (cf. [5]).

Bayesian's approach adopted by the authors [9] in comparison of experiments

* On leave from Universidade Federal de Santa Catarina, Departamento de Matematica, 88.049-Florianopolis, SC, Brazil. based on λ -measure of hypoentropy is as follows:

Definition 1. Let $\mathscr{E}_X = \{\mathscr{X}, \beta_{\mathscr{X}}, P_{\theta}; \theta \in \Theta\}$ and $\mathscr{E}_Y = \{\mathscr{Y}, \beta_{\mathscr{Y}}, Q_{\theta}; \theta \in \Theta\}$ be two experiments. We say that the experiment \mathscr{E}_X is preferred to \mathscr{E}_Y , for given prior $p(\cdot)$, denoted by, $\mathscr{E}_X \geq^{\lambda} \mathscr{E}_Y$, iff

 $I_{\lambda}(X; p(\cdot)) \ge I_{\lambda}(Y; p(\cdot))$ ⁽²⁾

In this, paper we analyse the relation between the criterion (2) given in Definition 1 and the classical criterion of Lehmann. We also study the relation between (2) and the two well known Blackwell's criteria based on the sufficiency property and on the decision theory.

2. RELATION WITH THE CLASSICAL CRITERIA

The following section studies the relation between the criterion given in (2) and Lehmann's criterion.

2.1 Relation with the Lehmann's criterion

Lehmann's [7] definition of comparing two experiments is stated as follows:

Definition 2. The experiment \mathscr{E}_X is preferred to experiment \mathscr{E}_Y , denoted by $\mathscr{E}_X \geq^L \checkmark$ $\geq^L \mathscr{E}_Y$ iff there exists an experiment \mathscr{E}_U with known distribution independent of \mathscr{E}_X , and also there exists a measurable function h(x, u) such that the random variable H = h(X, U) is equally distributed to Y for every $\theta \in \Theta$.

Theorem 1. Let $\{\mathscr{X}, \beta_{\mathscr{X}}, P_{\theta}; \theta \in \Theta\}$ and $\{\mathscr{Y}, \beta_{\mathscr{Y}}, Q_{\theta}; \theta \in \Theta\}$ be two statistical experiments with the same parameter space. If $\mathscr{E}_{X} \geq^{L} \mathscr{E}_{Y}$, then for every prior $p(\cdot)$ $\mathscr{E}_{X} \geq^{\lambda} \mathscr{E}_{Y}$.

Proof. As $\mathscr{E}_X \geq^L \mathscr{E}_Y$, there exist a random variable U independent of X and θ with completely known distribution and a measurable function h such that H = h(X, U) is equally distributed to Y for every $\theta \in \Theta$. Since $f(u \mid \theta) = f(u)$ and $f(x, u \mid \theta) = f(x \mid \theta) f(u \mid \theta)$, then we have

$$f(x, u \mid \theta_0, x_0) = f(u)$$
 and $f(h \mid \theta, x) = f(h \mid x)$

We know that [see [9], property 2]

$$I_{\lambda}(X; p(\cdot)) = I_{\lambda}(X, H; p(\cdot)) \ge I_{\lambda}(H; p(\cdot))$$
(3)

Also,

 $f(h \mid \theta) = f(y \mid \theta) \quad \forall p(\cdot)$

This gives

$$I_{\lambda}(H; p(\cdot)) = I_{\lambda}(Y; p(\cdot))$$
⁽⁴⁾

Expressions (3) and (4) completes the required result, i.e.,

$$I_{\lambda}(X; p(\cdot)) \geq I_{\lambda}(Y; p(\cdot))$$

414

2.2 Relations with Blackwell's criteria

First we study the relation between the criterion given in (2) and the Blackwell's sufficient criterion.

Definition 3. Let $\{\mathscr{X}, \beta_{\mathscr{X}}, P_{\theta}; \theta \in \Theta\}$ and $\{\mathscr{Y}, \beta_{\mathscr{Y}}, Q_{\theta}; \theta \in \Theta\}$ be two statistical experiments with the same parameter space. Blackwell's method for comparing two experiments states that the experiment \mathscr{E}_{X} is sufficient for the experiment \mathscr{E}_{Y} , denoted by $\mathscr{E}_{X} \geq^{B} \mathscr{E}_{Y}$, if there exists a measurable transformation $h: \mathscr{X} \times \mathscr{Y} \to \mathbb{R}$ satisfying: (a) $f(y \mid \theta) = \int_{\mathscr{X}} h(x, y) f(x \mid \theta) d\mu(x) \quad \forall \sigma \in \Theta \quad \forall y \in \mathscr{Y}$

(b) For every fixed $x \in \mathcal{X}$, h(x, y) is a probability density function on $(\mathcal{Y}, \beta_{\mathcal{Y}})$, and

(c) $\int_{\mathscr{X}} h(x, y) d\mu(x) < \infty \quad \forall y \in \mathscr{Y}$

To compare the maximizing criterion of λ -measure of hypoentropy with Blackwell's criterion, it is necessary to distinguish whether the parameter space is finite or not. In the latter case, we need a hypothesis of completeness over the family of distribution functions associated to the experiment \mathscr{E}_{x} .

The following theorems cover both the situations.

Theorem 2. Let $\{\mathscr{X}, \beta_{\mathscr{X}}, f(x \mid \theta); \theta \in \Theta\}$ and $\{\mathscr{Y}, \beta_{\mathscr{Y}}, f(y \mid \theta); \theta \in \Theta\}$ be two statistical experiments defined over $\Theta = \{\theta_1, \theta_2, ..., \theta_n\}$ and $p(\theta) = (p(\theta_1), p(\theta_2), ..., p(\theta_n))$ be a probability distribution on Θ . If $\mathscr{E}_X \geq^B \mathscr{E}_Y$, then $\mathscr{E}_X \geq^\lambda \mathscr{E}_Y$.

Proof. As Y is sufficient for X, then by the Blackwell's criterion, there exists a measurable function $h: \mathscr{X} \times \mathscr{Y} \to \mathbb{R}^+$ satisfying the following:

(a) $f(y \mid \theta) = \int_{\mathscr{X}} h(x, y) f(x \mid \theta) d\mu(x) \quad \forall \theta \in \Theta \quad \forall y \in \mathscr{Y}$

(b) For every fixed $x \in \mathscr{X}$, h(x, y) is a probability density function on $(\mathscr{Y}, \beta_{\mathscr{Y}})$, and (c) $\int_{\mathscr{X}} h(x, y) d\mu(x) < \infty \quad \forall y \in \mathscr{Y}$

By considering y fixed, we define

$$g_{\mathbf{y}}(\theta_i) = \frac{\int_{\mathcal{X}} h(x, y) f(x \mid \theta_i) \, \mathrm{d}\mu(x)}{\int_{\mathcal{X}} h(x, y) \, \mathrm{d}\mu(x)}$$

Then

$$p(\theta_i|y) = \frac{f(y|\theta_i)p(\theta_i)}{f(y)} = \frac{\int_{\mathcal{X}} h(x, y) f(x|\theta_i) d\mu(x)}{f(y)} p(\theta_i) =$$
$$= \frac{p(\theta_i) \left[g_y(\theta_i) \int_{\mathcal{X}} h(x, y) d\mu(x) \right]}{\int_{\mathcal{X}} h(x, y) f(x) d\mu(x)}$$

Let us consider an N-dimensional random variable $Z = (Z_{\theta_1} = (f(x \mid \theta_1)), ..., Z_{\theta_N} = f(x \mid \theta_N))$, where $\forall i Z_{\theta_i}$ have the density

$$f(x \mid y) = \frac{h(x, y)}{\int_{\mathcal{X}} h(x, y) \, \mathrm{d}\mu(x)}$$

Moreover, we suppose that the variables Z_{θ_i} (i = 1, ..., n) are independent. Let us

consider the following convex function:

$$H(x_1, ..., x_N) = -\left(\sum_{i=1}^N x_i p_i\right) \left[\sum_{i=1}^N \left(1 + \lambda \frac{x_i p_i}{\sum_{i=1}^N x_i p_i}\right) \log\left(1 + \lambda \frac{x_i p_i}{\sum_{i=1}^N x_i p_i}\right)\right]$$

where p_i is $p(\theta_i)$.

As

$$\mathsf{E}[Z_{\theta_i}] = \int_{\mathscr{X}} f(x \mid \theta_i) \frac{h(x, y)}{\int_{\mathscr{X}} h(x, y) \, \mathrm{d}\mu(x)} \, \mathrm{d}\mu(x) = g_y(\theta_i)$$

it follows that

$$H(\mathsf{E}[Z_{\theta_{i}}], \dots, \mathsf{E}[Z_{\theta_{N}}]) = H(g_{y}(\theta_{1}), \dots, g_{y}(\theta_{N})) =$$

$$= -\left(\sum_{i=1}^{N} g_{y}(\theta_{i}) p(\theta_{i})\right) \left[\sum_{i=1}^{N} \left(1 + \lambda \frac{g_{y}(\theta_{i}) p(\theta_{i})}{\sum_{i=1}^{N} g_{y}(\theta_{i}) p(\theta_{i})}\right) \log \left(1 + \lambda \frac{g_{y}(\theta_{i}) p(\theta_{i})}{\sum_{i=1}^{N} g_{y}(\theta_{i}) p(\theta_{i})}\right)\right] =$$

$$= -\frac{f(y)}{\int_{\mathscr{X}} h(x, y) d\mu(x)} \left[\sum_{i=1}^{N} (1 + \lambda p(\theta_{i} \mid y)) \log (1 + \lambda p(\theta_{i} \mid y))\right]$$

Applying Jensen's inequality, we have

$$H(\mathsf{E}[Z_{\theta_1}], \dots, \mathsf{E}[Z_{\theta_N}]) \leq \mathsf{E}[H(Z_{\theta_1}, \dots, Z_{\theta_N})]$$

$$- \frac{f(y)}{\int_{\mathscr{X}} h(x, y) \, \mathrm{d}\mu(x)} \left[\sum_{i=1}^N (1 + \lambda p(\theta_i \mid y)) \log (1 + \lambda p(\theta_i \mid y)) \right] \leq$$

$$\leq \frac{-1}{\int_{\mathscr{X}} h(x, y) \, \mathrm{d}\mu(x)} \int_{\mathscr{X}} \sum_{i=1}^N (1 + \lambda p(\theta_i \mid x)) \log (1 + \lambda p(\theta_i \mid x)) \, h(x, y) \, f(x) \, \mathrm{d}\mu(x)$$

Integrating with respect to Y, we have

$$-\int_{\mathscr{U}} \left[\sum_{i=1}^{N} (1 + \lambda p(\theta_i \mid y)) \log (1 + \lambda p(\theta_i \mid y))\right] f(y) d\mu(y) \leq \\ \leq -\int_{\mathscr{U}} \left[\sum_{i=1}^{N} (1 + \lambda p(\theta_i \mid x)) \log (1 + \lambda p(\theta_i \mid x))\right] (\int_{\mathscr{U}} h(x, y) d\mu(y)) f(x) .$$

$$\cdot d\mu(x)$$

i.e.,

i.e.,

 $I(X; p(\cdot)) \ge I(Y; p(\cdot)).$

Theorem 3. Let $\{\mathscr{X}, \beta_{\mathscr{X}}, f(x \mid \theta); \theta \in \Theta\}$ and $\{\mathscr{Y}, \beta_{\mathscr{Y}}, g(y \mid \theta); \theta \in \Theta\}$ be two experiments defined over Θ such that $(P_{\theta})_{\theta \in \Theta}$ is a complete family of distributions. Then, if \mathscr{E}_{X} is preferred to the experiment \mathscr{E}_{Y} according to Blackwell's criterion, then $\mathscr{E}_{X} \geq^{\lambda} \mathscr{E}_{Y}$.

Proof. As \mathscr{E}_X is sufficient for \mathscr{E}_Y , we have

 $g(y \mid \theta) = \int_{\mathcal{X}} h(x, y) f(x \mid \theta) \, \mathrm{d}\mu(x) \, .$

On the other side, we have

$$g(y \mid \theta) = \int_{\mathscr{X}} g(y \mid x, \theta) f(x \mid \theta) \, \mathrm{d}\mu(x) \, .$$

This gives

$$\int_{\mathscr{X}} (h(x, y) - g(y \mid x, \theta)) f(x \mid \theta) \, \mathrm{d}\mu(x) = 0$$

i.e.,

 $\mathsf{E}_{\theta}[h(x, y) - g(y \mid x, \theta)] = 0.$

Since $\{f(x \mid \theta)\}_{\theta \in \Theta}$ is a complete family, then

 $h(x, y) - g(y \mid x, \theta) = 0$ a.e. $\mu(x), \forall y, \forall \theta$.

i.e., $g(y \mid x, \theta)$ is independent of θ a.e. $\mu(x)$. Therefore

 $I_{\lambda}(X, Y; p(\cdot)) = I_{\lambda}(Y; p(\cdot)).$

Also, we know that (see authors $\lceil 9 \rceil$)

 $I_{\lambda}((X, Y); p(\cdot)) \geq I_{\lambda}(Y; p(\cdot)).$

This gives

 $I_{\lambda}(X; p(\cdot)) \geq I_{\lambda}(Y; p(\cdot)).$

Now we shall study the relation between the Blackwell's criterion based on the Decision Theory and the λ -measure of hypoentropy criterion, when the parameter space is finite and the prior distribution is uniform.

Let $\Theta = \{\theta_1, \theta_2, ..., \theta_N\}$ be a finite parameter space. Let $\mathscr{E}_X = \{\mathscr{X}, \beta_{\mathscr{X}}, P_{\theta_i}\}_{i=1,2,...N}$ be an experiment for each *i*. Let us consider a pair (\mathscr{E}_X, A) , where *A* is a closed bounded convex subset of \mathbb{R}^N whose elements are terminal action points a = $= (a_1, a_2, ..., a_N)$, i.e., $a_j = L(\theta_j, d)$ (j = 1, 2, ..., N) is the loss from action *a*, and *d* is an arbitrary decision function. When the state of nature is θ_j , the risk is

$$R_j = R(\theta_j, d) = \int_{\mathscr{X}} L(\theta_j, d) \, \mathrm{d}P_{\theta_j}(x) \quad (j = 1, 2, \dots, N)$$

As d varies over all possible decision functions, for the risk problem we have

$$B(\mathscr{E}_X, A) = \{R = (R_1, ..., R_N) \mid d \in D\}.$$

According to Blackwell's definition, we say that the experiment \mathscr{E}_X is more informative than \mathscr{E}_Y , written by $\mathscr{E}_X \supset \mathscr{E}_Y$, if for every $A \subset \mathbb{R}^N$, closed, bounded and convex set, we have $B(\mathscr{E}_X, A) \supset B(\mathscr{E}_Y, A)$.

Reduction to standard experiment gives a condition equivalent to $\mathscr{E}_{X} \subset \mathscr{E}_{Y}$.

For any experiment $\mathscr{E}_X = \{\mathscr{X}, \beta_{\mathscr{X}}, P_{\theta_i}\}_{i=1,2,...,N}$, let $p_{\theta_i}(x)$ be the density of P_{θ_i} with respect to $NP_0 = P_{\theta_1} + \ldots + P_{\theta_N}$. Let \mathscr{Z} be the set of N-tuples $z = (z_1, z_2, \ldots, z_n)$, $z_i \ge 0$, $\sum_{i=1}^N z_i = 1$. For any Borel subset A of \mathscr{Z} , let us define

$$m_i(A) = P_{\theta_i}(\{x \in X \mid p(x) = (p_{\theta_1}(x), \ldots, p_{\theta_N}(x)) \in A\})$$

so that m_i (i = 1, 2, ..., N) is the distribution of z, where x has distribution P_{θ_i} .

We now have a new experiment

$$\mathscr{E}_X^* = \{\mathscr{Z}, \beta_{\mathscr{Z}}, m_i\}_{i=1,2,\ldots,N}$$

called standard experiment and the measure

$$m_{X} = \frac{1}{N} \sum_{i=1}^{N} m_{i}$$

defined over $(\mathscr{Z}, \beta_{\mathscr{Z}})$ is called the standard measure.

The following result (cf. [1]) is a valuable tool in the comparison of experiments: Let \mathscr{E}_X and \mathscr{E}_Y be two experiments with standard measures m_X and m_Y respectively. $\mathscr{E}_X \supset \mathscr{E}_Y$ if and only if for every continuous convex function g(p),

$$\int_{\mathcal{X}} g(p) \, \mathrm{d}m_X \ge \int g(p) \, \mathrm{d}m_Y$$

Theorem 4. Let $\Theta = \{\theta_1, \theta_2, ..., \theta_N\}$ be a finite parameter space with the uniform distribution and let \mathscr{E}_X and \mathscr{E}_Y be two experiments. If $\mathscr{E}_X \supset \mathscr{E}_Y$, then $\mathscr{E}_X \ge^{\lambda} \mathscr{E}_Y$.

Proof. We have to prove that

$$\mathsf{E}_{X}[H_{\lambda}(p(\cdot \mid x))] \leq \mathsf{E}_{Y}[H_{\lambda}(p(\cdot \mid y))]$$

for all $p(\theta_i) = 1/N$, i = 1, 2, ..., N i.e.,

$$\int_{\mathscr{X}} \left[\int_{\Theta} \left(1 + \lambda p(\theta \mid x) \right) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) \right] f(x) d\mu(x) \ge \\ \ge \int_{\mathscr{X}} \left[\int_{\Theta} \left(1 + \lambda p(\theta \mid y) \right) \log \left(1 + \lambda p(\theta \mid y) \right) d\lambda(\theta) \right] f(y) d\mu(y)$$

Considering the left hand side of the above inequality, we have

$$\begin{split} \int_{\mathcal{X}} \left[\int_{\Theta} \left(1 + \lambda p(\theta \mid x) \right) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) \right] f(x) d\mu(x) &= \\ &= \int_{\mathcal{X}} \int_{\Theta} \left(f(x) + \lambda f(x \mid \theta) p(\theta) \right) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) d\mu(x) = \\ &= \int_{\mathcal{X}} \int_{\Theta} f(x) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) d\mu(x) + \\ &+ \lambda \int_{\mathcal{X}} \int_{\Theta} f(x \mid \theta) p(\theta) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) d\mu(x) = \\ &= \int_{\mathcal{X}} \int_{\Theta} \left[\int_{\Theta} f(x \mid \theta) p(\theta) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) d\mu(x) + \\ &+ \lambda \int_{\mathcal{X}} \int_{\Theta} f(x \mid \theta) p(\theta) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) d\mu(x) = \\ &= \int_{\Theta} \left[\int_{\Theta} \left[\int_{\mathcal{X}} f(x \mid \theta) \log \left(1 + \lambda p(\theta \mid x) \right) d\mu(x) \right] p(\theta) d\lambda(\theta) \right] d\lambda(\theta) + \\ &+ \lambda \int_{\mathcal{X}} \int_{\Theta} f(x \mid \theta) p(\theta) \log \left(1 + \lambda p(\theta \mid x) \right) d\lambda(\theta) d\mu(x) = \\ &= \sum_{j=1}^{N} \sum_{i=1}^{N} \int_{\mathcal{X}} f(x \mid \theta_{j}) \log \left(1 + \lambda p(\theta_{i} \mid x) \right) \frac{1}{N} d\mu(x) + \\ &+ \lambda \sum_{i=1}^{N} \int_{\mathcal{X}} 1 f(x \mid \theta_{i}) \log \left(1 + \lambda p(\theta_{i} \mid x) \right) \frac{1}{N} d\mu(x) = \\ &= \lambda \sum_{i=1}^{N} \frac{1}{N} \mathbb{E}_{x|\theta_{i}} [\log \left(1 + \lambda p(\theta_{i} \mid x) \right)] + \end{split}$$

418

$$+\frac{1}{N}\sum_{j=1}^{N}\sum_{i=1}^{N}\mathsf{E}_{X|\theta_{j}}\left[\log\left(1+\lambda p(\theta_{i}\mid x)\right)\right] =$$

$$=\frac{1}{N}\left(1+\frac{\lambda}{N}\right)\sum_{j=1}^{N}\sum_{i=1}^{N}\mathsf{E}_{X|\theta_{j}}\left[\log\left(1+\lambda p(\theta_{i}\mid x)\right)\right] =$$

$$=\frac{1}{N}\left(1+\frac{\lambda}{N}\right)\sum_{j=1}^{N}\sum_{i=1}^{N}\mathsf{E}_{X|\theta_{j}}\left[\log\left(1+\lambda \frac{f(x\mid \theta_{i})}{Nf(x)}\right)\right]$$

Furthermore, we have

$$\frac{f(x \mid \theta_i)}{f(x)} = \frac{\frac{\mathrm{d}P_{\theta_i}(x)}{\mathrm{d}\mu(x)}}{\frac{\mathrm{d}P(x)}{\mathrm{d}\mu(x)}} = \frac{\frac{\frac{\mathrm{d}P_{\theta_i}(x)}{\mathrm{d}\sum\limits_{i=1}^{N} P_{\theta_i}(x)}}{\frac{1}{N} \frac{\mathrm{d}\sum\limits_{i=1}^{N} P_{\theta_i}(x)}{\mathrm{d}\sum\limits_{i=1}^{N} P_{\theta_i}(x)}} = N \frac{\mathrm{d}P_{\theta_i}(x)}{\mathrm{d}\sum\limits_{i=1}^{N} P_{\theta_i}(x)} = N f_{\theta_i}(x).$$

Considering the standard experiment associated to \mathscr{E}_X :

$$\mathscr{E}_{X}^{*} = \{\mathscr{Z}, \beta_{\mathscr{Z}}, m_{i}\}_{i=1,2,\dots,N}$$
As $dm_{i}/dm_{X} = Nf_{\theta_{i}}$, we have

$$\int_{\mathscr{X}} \left[\int_{\Theta} (1 + \lambda p(\theta \mid x)) \log (1 + \lambda p(\theta \mid x) d\lambda(\theta)] f(x) d\mu(x) + \frac{1}{N} \left(1 + \frac{\lambda}{N}\right) \sum_{j=1}^{N} \sum_{i=1}^{N} \mathsf{E}_{X/\theta_{j}} \left[\log \left(1 + \lambda \frac{f(x \mid \theta_{i})}{N f(x)}\right)\right] = \frac{1}{N} \left(1 + \frac{\lambda}{N}\right) \sum_{j=1}^{N} \sum_{i=1}^{N} \mathsf{E}_{m_{j}} [\log (1 + \lambda f_{\theta_{i}})] = \frac{1}{N} \left(1 + \frac{\lambda}{N}\right) \sum_{i=1}^{N} \mathsf{E}_{m_{x}} [f_{\theta_{i}} \log (1 + \lambda f_{\theta_{i}})] = \frac{1}{N} \left(1 + \frac{\lambda}{N}\right) \sum_{i=1}^{N} \mathsf{E}_{m_{x}} [f_{\theta_{i}} \log (1 + \lambda f_{\theta_{i}})].$$

We now define the following convex function

$$g(f_{\theta_1}, \ldots, f_{\theta_N}) = \sum_{i=1}^N f_{\theta_i} \log \left(1 + \lambda f_{\theta_i}\right).$$

Using the standard experiment's condition for $\mathscr{E}_X \supset \mathscr{E}_Y$, we obtain

$$\mathsf{E}_{m_{\mathbf{X}}}[f_{\theta_{i}}\log\left(1+\lambda f_{\theta_{i}}\right)] \geq \mathsf{E}_{m_{\mathbf{X}}}[f_{\theta_{i}}\log\left(1+\lambda f_{\theta_{i}}\right)].$$

i.e., $\mathscr{E}_X \geq \mathscr{E}_Y$.

ACKNOWLEDGEMENTS

One of the author (I. J. Taneja) is thankful to the "Universidad Complutense de Madrid, Departamento de Estadística e I. O." for providing facilities and financial support. This work was partially supported by the direccion general de investigacion científica y technica (DGCYT) under the contract PS89-0019. (Received November 10, 1989.)

.....

REFERENCES

- M. Ben-Bassat: *f*-Entropies, probability of error and feature selection. Inform. and Control 39 (1978), 227-243.
- [2] D. Blackwell: Comparison of experiments. Proc. 2nd Berkeley Symp. University of California Press, Berkeley 1951, pp. 93-102.
- [3] D. Blackwell: Equivalent comparisons of experiments. Ann. Math. Statist. 24 (1953), 265-272.
- [4] D. Blackwell and M. A. Girshick: Theory of Games and Statistical Decisions. J. Wiley, New York 1954.
- [5] C. Ferreri: Hypoentropy and related heterogeneity, divergence and information measures. Statistica 2 (1980), 155-167.
- [6] M. H. De Groot: Optimal Statistical Decisions. McGraw-Hill, New York 1970.
- [7] E. L. Lehmann: Testing Statistical Hypothesis. J. Wiley, New York 1959.
- [8] D. V. Lindley: On a measure of information provided by an experiment. Ann. Math. Statist. 27 (1956), 986-1005.
- [9] L. Pardo, D. Morales and I. J. Taneja: λ-measures of hypoentropy and comparison of experiments: Bayesian approach. Statistica (to appear).
- [10] I. J. Taneja: λ -measures of hypoentropy and their applications. Statistica 4 (1986), 465–478.
- [11] I. J. Taneja, L. Pardo, D. Morales and M. L. Menéndez: On generalized information and divergence measures and their applications: A brief review. Qüestio 13 (1989), 47-73.
- [12] I. Vajda and K. Vašek: Majorization, concave entropies, and comparison of experiments. Problems Control Inform. Theory 14 (1985), 105-114.

Prof. Dr. Inder Jeet Taneja, Departamento de Matematica, Universidade Federal de Santa Catarina, 88049-Florianópolis, SC. Brazil.

Prof. Dr. Leandro Pardo, Prof. Dr. Domingo Morales, Departamento de Estadistica e I. O., Facultad de Matematicas, Universidad Complutense de Madrid, 28040-Madrid. Spain.